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When run as a script
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When pasted line at a time into CINT

{


TCanvas canvas("canvas", "My Canvas", -1, 0, 800, 800);


TPad pad1("pad1", "Two scales on one graph", 0.05, 0.05., 0.95, 0.475, 22, 1, 0);


pad1.Draw();


TF1 func2("func2", "cos(x)^2", 0, 10);


TH1F hist2("hist2", "Function 2 histogram", 100, 0, 2);


hist2.FillRandom("func2", 10000);


pad1.cd();


hist2.Smooth(500);


hist2.Draw();


TF1 func3("func3", "sin(x)^3", 0, 10);


TH1F hist3("hist3", "Function 3 histogram", 100, 0, 2);


hist3.FillRandom("func3", 200000);


hist3.Smooth(500);


hist3.Scale((pad1->GetUymax())/(1.1*hist3.GetMaximum()));


hist3.SetLineColor(kRed);


hist3.Draw("same");

}

The script used to generate the two pictures
